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1 Tracking Sun’s motion

It would be difficult to track the Sun’s motion by trying to look at the Sun. A more convenient
way would be to track the position of a shadow created by the Sun. We can see how well this
worlks for the duration of a portion of a class meeting.

a) Observe the shadow cast by a fixed object onto a sheet of graph paper. Can you see it

move?
No

b) Mark the location of a part of the shadow at one instant and record the time at that
instant.
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c¢) Record the time when this part of the shadow has moved by one major (thicker) gridline.
Determine how much time it takes the shadow to travel one major gridline.
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d) The instructor will now have you use the moving shadow to tell time. The instructor
will tell you to record the position and time of the shadow at one moment and then
just the position at a later moment. Determine the time (without using a watch or your
phone) at this later instant.
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e) Could you use this method of timekeeping to measure time with an accuracy of 1 minutes.

How about 30seconds?
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